



St. Louis County, Minnesota

Date of Report: 9/18/2025 9:15:08 PM

Conora	I Details
Genera	ii Detaiis

Parcel ID: 240-0050-04540

Legal Description Details

Plat Name: BASSETT

Section Township Range Lot Block

28 58 13

Description: BEGINNING AT SE CORNER OF NE 1/4 OF NW 1/4 RUNNING THENCE W 400 FT THENCE N 296 FT THENCE

SELY ALONG THE RY RT OF W TO POINT OF BEGINNING

Taxpayer Details

Taxpayer NameFONDIE DAVID Jand Address:PO BOX 393

5023 PINE ST

HOYT LAKES MN 55750

Owner Details

Owner Name FONDIE DAVID J

Payable 2025 Tax Summary

2025 - Net Tax \$444.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$444.00

Current Tax Due (as of 9/17/2025)

Due May 15		Due October 15	Total Due			
2025 - 1st Half Tax	\$222.00	2025 - 2nd Half Tax	\$222.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$222.00	2025 - 2nd Half Tax Paid	\$222.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: School District: 2142
Tax Increment District: -

Property/Homesteader: FONDIE, DAVID J & BILLI JO

Assessment Details (2025 Payable 2026) **Class Code** Homestead Land Bldg **Total Def Land Def Bldg Net Tax** EMV Status **EMV EMV EMV EMV** Capacity (Legend) 201 1 - Owner Homestead \$15,100 \$131,800 \$146,900 \$0 \$0 (100.00% total) Total: \$15,100 \$131,800 \$146,900 \$0 \$0 1136





St. Louis County, Minnesota

Date of Report: 9/18/2025 9:15:08 PM

Land Details

Deeded Acres: 1.00 Waterfront: Water Front Feet: 0.00 Water Code & Desc: Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: Lot Depth:

		Impro	vement 1	Details (Res)			
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des	
HOUSE	1982	1,080		1,208	-	-	
Segment	Story	Width	Length	Area	Foundati	ion	
BAS	0	8	15	120	POST ON GR	ROUND	
BAS	1	16	20	320	PIERS AND FO	OOTINGS	
BAS	1	16	24	384	PIERS AND FO	OOTINGS	
BAS	1.5	16	16	256	PIERS AND FO	OOTINGS	
CW	0	11	20	220	POST ON GR	ROUND	
DK	0	4	6	24	POST ON GR	ROUND	
DK	0	6	15	90	POST ON GF	OUND	
DK 0		8	19	152	152 POST ON GROU		
Bath Count	Bedroom Count	Bedroom Count			Fireplace Count	HVAC	
1.0 BATH	3 BEDROOMS		-	-		CENTRAL, WOOD	
		Impro	vement 2	Details (Pb)			
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De	
POLE BUILDING	2005	1,344		1,344	-	-	
Segment	Story	Width Length		Area	Foundation		
BAS	BAS 1 1		12	144	FLOATING	SLAB	
BAS 1		30 40		1,200	FLOATING	OATING SLAB	
LT	LT 0		28 336		POST ON GROUND		
		Impro	vement 3	Details (Sa)			
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De	
SAUNA	16	8	168	-	-		
Segment Story Wid		Width Length			Foundation		
Segment	Story	Width	Length	Area	Foundati	ion	

Improvement Type Year Built		Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
SAUNA 0		168		168	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	12	14	168	POST ON G	ROUND
CWX	0	16	14	224	POST ON G	ROUND
SPX	0	6	14	84	POST ON G	ROUND
	SAUNA Segment BAS CWX	SAUNA 0 Segment Story BAS 1 CWX 0	SAUNA 0 168 Segment Story Width BAS 1 12 CWX 0 16	SAUNA 0 168 Segment Story Width Length BAS 1 12 14 CWX 0 16 14	SAUNA 0 168 168 Segment Story Width Length Area BAS 1 12 14 168 CWX 0 16 14 224	SAUNA 0 168 168 - Segment Story Width Length Area Foundat BAS 1 12 14 168 POST ON GR CWX 0 16 14 224 POST ON GR

			Impro	vement 4	Details (SIp)		
	Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.
	SLEEPER	0	25	2	252	-	-
Segment		Story	Width	Length	Area	Foundat	ion
	BAS	1	12	21	252	POST ON GF	ROUND





St. Louis County, Minnesota

Date of Report: 9/18/2025 9:15:08 PM

		Impre	ovement 5	Details	(St)				
Improvement Type	•		` ,		ement Finish Style (tvle Code	e & Desc.	
Improvement Type Year Built STORAGE BUILDING 0		25	252			-		-	
Segmer	Segment Story		Length			Founda	ation		
BAS	0	12	21	2	52	POST ON C	ROUN	D	
		Impre	ovement 6	Details	(St)				
Improvement Type	e Year Built	: Main Flo	oor Ft ²	416		ement Finish	s	tyle Code	e & Desc.
STORAGE BUILDIN	IG 0	41	6			-		-	
Segmen	nt Stor	y Width	Length			Founda			
BAS	0	16	26	4	16	POST ON C	ROUN	D	
		Improvem	ent 7 Deta	ils (HEN	N HOUSE)				
Improvement Type	e Year Built	Main Flo	oor Ft ²	Gross Ar	ea Ft ² Bas	ement Finish	S	tyle Code	e & Desc.
STORAGE BUILDIN	IG 0	64	4	64		-		-	
Segmen	nt Stor	y Width	Length	Α	rea	Founda	ation		
BAS	0	8	8	(64	POST ON C	GROUN	D	
		Improveme	ent 8 Deta	ils (FIRE	EWD STG)				
Improvement Type	e Year Built	Main Flo	oor Ft ²	Gross Ar	ea Ft ² Bas	ement Finish	S	Style Code & Desc.	
MULTIPLE STOREAGE BUILDINGS	0	72	72 72			-		-	
Segment Story		y Width	Width Length		Area Foundation		ation	on	
BAS 0		6	6 36		36	POST ON GROUN			
		Sales Reported	to the St.	Louis (County Audito	r			
Sale Date Purchase Price CRV Number								ber	
09)/1994		\$13,000				101127		
		A:	ssessmen	t Histor	У				
Class Code Year (<mark>Legend</mark>)		Land EMV	Bld EM		Total EMV	Def Land EMV	ВІ	ef dg //V	Net Tax Capacity
2024 Dayahla 2025	201	\$15,100	\$131,	800	\$146,900	\$0	\$	0	-
2024 Payable 2025	Total	\$15,100	\$131,	800	\$146,900	\$0	\$	0	1,136.00
0000 BI-I- 0004	201	\$15,100	\$131,	800	\$146,900	\$0	\$	0	-
2023 Payable 2024	Total	\$15,100	\$131,	800	\$146,900	\$0	\$	0	1,229.00
	201	\$14,400	\$131,	800	\$146,200	\$0	\$	0	-
2022 Payable 2023	Total	\$14,400	\$131,	800	\$146,200	\$0	\$	0	1,221.00
0004 B	201 \$13,600 D21 Payable 2022 Total \$13,600		\$119,900		\$133,500	\$0	\$	0	-
2021 Payable 2022			\$119,	\$119,900 \$133,5		500 \$0		0	1,083.00
		1	Γax Detail	History					
Tax Year	Tax	Special Assessments	Total Ta Specia Assessm	al	Taxable Land M\	Taxable Bui MV	lding	Total Ta	ıxable MV
2024	\$760.00	\$0.00	\$760.0	00	\$12,631	\$110,25	0	\$122,881	
2023	\$816.00	\$0.00	\$816.0	00	\$12,028	\$110,09	,090 \$122,118		2,118
2022	\$820.00	\$0.00	\$820.0	00	\$11,030	\$97,245	5	\$10	8,275





St. Louis County, Minnesota

Date of Report: 9/18/2025 9:15:08 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.